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2.

General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 58 / OSS /1, Set - B on the Answer-Book.

5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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Time : 3 Hours] [Maximum Marks : 100
aud ;3 gue [qutiek : 100
Note:i)  All questions are compulsory.

ii)

iii)

Marks allotted to each question are indicated against it.

Each question from Question Nos. 1 to 10 has four alternatives - (A), (B), (C) and
(D), out of which one is most appropriate. Choose the correct answer among the
four alternatives and write it in your answer-book against the number of the ques-
tion. No extra time is allotted for attempting multiple choice questions.

fw: i) @i % swdRm )
i) e o 35w v of Rra T E |
iii) e EE 1% 10 7% % g 797 § 9 fFweu-(A), (B), (C) @ (D) €, fmd & ver wa@t sugeh @ | I/t
forehedt & & W& 3T FH AU S ITR—GFETR § 79 HEAT & T IR ford | ag-farekedt weet o for sifefen
wHa i T e |
1. Normative economics deals with : [1]
(A) Whatis? (B) What should be?
(C) What has happened in the past? (D) What is likely to happen in future
3yt ST TR ST AT B 7
(A) wE? (B) = g =Ry ?
(C) orcia & s/ gamm A ? (D) wifersa © s 9 < TuTET 37
2. The measure of Central tendency around which maximum concentration of items
occurs is: [1]
(A) Mean (B) Median
(C) Mode (D) Quartile
T T 1 98 WY Teeht Te@ S JTErd gt 8, T8 R ¢
(A) e (B) wfezem
(C) wger (D) gl
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3. The general relationship between price and demand is referred to as the following

type of correlation : [1]
(A) Positive (B) Negative

(C) Linear (D) Perfect

HAA AR AT ok o= T Gay FEafalRaa TR & 96y wgaan g ¢

(A) &ATCHSR (B) smutcHeR

(C) Y= (D) qui

4. Total utility of 2 units of a good is 9 utils and that of 5 units is 18 units. What is

marginal utility of 5 units. [1]
(A) 2 (B) 3
(C) 3.6 (D) 9
T I i Gt THEAl hl HeA Ut 9 gRee g IR S h 18 giew B | 5 shis hi Hiwia
U s 27
(A) 2 (B) 3
(C) 3.6 (D) 9
5. The basic economic activity is: [1]

(A) Production

(B) Consumption

(C) Capital formation
(D) Allthe above
SRR afefer ufskan g 2
(A) 3edrEA

(B) Suwm

(C) Yt Frwor

(D) Swis s
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6. Shortrun production function shows the changes in total output when: [1]
(A) Only one input is increased
(B) Only two inputs are increased
(C) Only few inputs are increased
(D) Allinputs are increased
HCUTHTEA ITUTEH Teld el ScdTed § Ui feadt @ 91a
(A) e T 3 ¥ gig i
(B) ae gt Tl § ghg A |
(C) et FB R | Fhg Y |
(D) @ Tl | Jhg it T |

7. Markets in microeconomics are classified on the basis of : [1]
(A) Number of firms
(B) Differences in products produced by different firms
(C) Freedom of entry and exit to firms
(D) Alltheabove
e 1f9Te | STIRI <hl 39 MR W Tiiicha foha ST 2 :
(A) wHl Fi
(B) faftr waf grr Sconfea sconei # faftran
(C) wHl st AT AT AT hl Tad=al

(D) Swis |
8. Which of'the following is primary function of money. [1]
(A) Store of value (B) Measure of value
(C) Transfer of value (D) Standard of deferred payment
frfeftaa # & = a1 g o mafhes w27
(A) T 1 TR (B) = =1 wraw
(C) T = T (D) T ST B AT
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9. GNP, equals: [1]
(A) National income
(B) NNP,_+ depreciation
(C) National income + depreciation + net Indirect Tax
(D) NNP,_+ net indirect Tax
TR T W Thet AT IeUTE T8k T ¢
(A) T s
(B) we AN R e U 3cTE + Yot
(C) U 3 + Yeae™ + faet areaet o
(D) weM gea W Fae aa s + Fae siuee w

10. Consumption depends upon : [1]
(A) Saving (B) Investment
(C) Income (D) None of the above
I99RT 38 W A e 2
(A) = (B) fem
(C) = (D) Wk | & HS T

11. Giving an example explain how economic problem arises in an economy due to
'unlimited wants'. [3]

ISTEHUT T AW R “areiifia Wi o sror snfties wwe A Aar At 2 |

12. Index numbers are economic barometers. Explain how? [3]

GeIehich 3T STIHTIHRS Bid 8 ? TWSIst ha ?

13. Explain the meaning of correlation. [3]
TGS T 312 THEATSU |
14. An individual firm under perfect competition is price taker. Explain how [3]

qut ufa=ifiren § Uk erhelt W hida TR 2l @ | SHEET HE |

15. Show that average revenue of a product is also the price of the product. [3]

fearen A fort 3cute ot 3ftEq T IEH! hiAd W g 2 |
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16.

17.

18.

19.

20.

21.

22.

23.

Explain how demand for a given good is affected by change in prices of substitute
goods. [3]

Taense for ferelt ag <t Wit SEeEh TumATIR SRqait it fmdl ® uitada 9 R awfed g @ |

Define production possibilities curve. State its two properties. [3]

IS GHTEAT a5k eht TRAT AT | g6 3 ferdreand s |

Explain store of value function of money [3]
S o Yol U i qHEise |

Distinguish between closed economy and open economy. [3]
T STieTEwer 3R Gelt refeaatyn # We it |

Name three instruments of fiscal policy. [3]
TR ifd o @ STt 9d1Eu |

A consumer buys 50 units of a good at a price of Rs.6 per unit. When price rises, he

buys 25 units. Price elasticity of demand is (—) 1. Calculate the new price. [4]

6 . Tfdl 3hTE W Ueh IUMTHT Teh &g ht 50 Fh13 Wited 2 | T HiFa 5 A1 8 98 25 ghte
Wligdt g | 6 6l hia @ (<) 1 2 | 7 fima ot aitehe iR |

When price rises by one rupee, the quantity supplied by the producer rises from 80
units to 100 units. Price elasticity of supply is 2. Calculate the price before change.|[4]

Fra ® Uk . i giig I W Uk Iearesk g gfd 80 3RTE | wie s 100 3ehTE 8 et 2 | gfd
%t i ofrer 2 8 | Uadd | Jd hi Shidd Sl UReheiH hifTu |

Distinguish between revenue expenditure and capital expenditure of government.
Give an example of each. [4]

THR & TTEd =99 3R USRI o990 § 3R hIfTU | Tk ot Uk Ueh 3GTE0T S |
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24. Calculate National income : [4]
) Gross national disposable income 600
i)  Subsidy 50
i)  Consumption of fixed capital 100
iv)  Indirect Tax 150
v)  Net current transfers from abroad 10
TG AT 1 IREHe Y
1) Tehe! T TS 3 600
i)  anfelen wgwErEn 50
i) 3T YSH 1 SUHFT 100
v)  AITA 150
L it § e A A 10

25. Distinguish between explicit cost and implicit cost. Give an example of each. [4]
T ANTA 3R 3AfTEd TN | 3{eR 918U | Yk i Ueh Ueh 3aT2Y0T SINTU |

26. Explain 'banker to the government' function of central bank. (4]

H ok 1 “TIHR T St hE THEATSU |

27. Calculate second quartile of wages (in Rs.) per hour [6]
110, 60, 105, 65, 100, 75, 70, 95, 90, 85, 80

TRl () wfa ger o fgeiterr wgeies o1 aRehe™ it |
110, 60, 105, 65, 100, 75, 70, 95, 90, 85, 80

28. Given that MPC = (0.80 and investment increases by Rs. 200 crore,

calculate (a) value of multiplier and (b) increase in income. [6]
afe MPC = 0.80 2 3iR fFawt 200 oig . o1¢ J1an 8 @, () 0T 1 Jed 3R (@) 3=
gfg T UNeheT T |

29. Define supply. Explain how 'prices of other goods' is a determinant of supply of
a good. Give example. [6]

gft <t uftwra iR | TeeT fh o TRgatt B fima ot awg i gfd @ fafe FRE
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30. Show that two indifference curves cannot intersect each other. Use diagram. [6]
fomamen o6 @1 amfemT oI5k U GER 1 TE hIE HeRd | TR ST S i |
For blind candidates only in lieu of Q No. 30

HAA gEeEH Tdieniei o fore wea s 30 & T W

Explain why an indifference curve is (a) downward slopping and (b) convex.

AuEE {3 U MMM ok (a) el B 3R B dl 3R (b) SHAIE 0 g @ |

31. Calculate NNP,

) Private final consumption expenditure
i)  Net-factor income from abroad
i)  Net exports

iv)  Net domestic capital formation

v)  Indirect Tax

vi)  Government final consumption expenditure
vii)  Consumption of fixed capital

viii) Net current transfers from abroad
ix)  Change in stocks

x)  Subsidy

NNP,__ = ufteret shifrg

i) et sifm s ==

i)  forwt @ e wreE am

i) Fraet Pt

iv) e ae et i

V) I

vi) ERN ifa| Susim ==

vil)  oTOe U T SUMH

viil)  faeem @ Fae e g

ix) i ¥ uRadd

X)  3ieles wgmEan

(Rs. crore)

400
)5
() 10
80

50
100
30

20

)7

(03 &)
400
()5
(=) 10
80

50
100
30

20
)7
5

[6]

32. State 3 positional averages. Also state any three properties of arithmetic average.[6]

3 feorfa gaeft S JaT3u | ST 71ed ht @i favreand ot g |
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